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1.  Examine an economic case for a public sector in a market oriented economy. 14
OR
(@) Discuss the characteristics of Indian Economy. 7
(b) Give the differences between Private Goods and Public Goods. 7
2.  Critically evaluate the Arrow’s impossibility theorem. 14
OR
(@) Evaluate the Median voter theorem. 7
(b) Explain the concepts of clear majority. 7
3. Discuss Erik Lindahls theory pertaining to allocation of resources between Public Sector

and Private Sector in a mix economy. 14
OR

(@) Discuss reasons given by Peacock and Wiseman for increasing public expenditure. 7

(b) Explain the Samuelson’s and Musgrave’s concepts of provision of public goods. 7

Discuss the Ability-to-pay principle for equity in taxation. 14
OR

(@) Write a note on Laffer Curve. 7

(b) Discuss the effects of Income Tax on supply of Labour. 7

For each of the following questions, select the best answer and write only its number
(a, b, ¢, d) in your answer book. 14
(1) Which of the following are basic economic problems ?

(@) Which goods and service are produced with limited resources.

(b) Decision about production method.

(c) Decision about distribution in the society.

(d) All of the above

(2) The characteristic of spillover effects is found in

(a) Private goods (b)  Public goods

(c) Both (a) and (b) above (d) None of the above
(3) Market system works on

(@) Demand (b)  Supply

(c) Excludability principle (d) Price
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Which of the following characteristics is present in a public goods ?

(@ Non-rivalness (b) Non-excludability
(c) Both (a) and (b) above (d)  None of the above
Which of the following is not social capital ?

(@) Transportation (b) Ports

(c) Communication (d) Firms

Equal sacrifice means

(a) Sacrifice of total utility is equal
(b) Proportional sacrifice is equal
(c) Marginal sacrifice is equal

(d) All of the above

Expenditure tax is a

(a) Direct tax (b) Indirect tax

(c) Sales tax (d) None of the above
Which of the following is tax free income ?

(a) Salary income (b)  Profit income

(c) Provident Fund income (d) None of the above

The limit of tax exemption should be equal to

(@) Per capita income

(b) Expenditure necessary for minimum subsistence level
(c) Criteria of poverty line

(d) All of the above

In income tax the tax base is
(@) Expenditure (b) Saving
(c) Income (d) All of the above

The income effect of an income tax is that an individual will
(@) Work harder (b) Rest More
(c) No change in current situation(d) None of the above

Who gave the pure theory of public expenditure ?
() Bowen (b) Erik Lindhall
(c) Keynes (d) Samuelson

In Carl Shoup’s classification, which of the following is included ?
(@) Group consumption goods

(b) Collective consumption goods

(c) Marketable goods

(d) All of the above

Which of the following tax cannot be made progressive ?
(@ Income tax (b) Wealth tax
(c) Corporation tax (d) Excise tax
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